
 

 

Instruction: Match the sentences with the correct picture. ���́�¼n�¦³Ã¥�Â¨³¦¼�£µ¡�̧É�¦���́� 

       

1. He is wearing a long-sleeve shirt. y    y 

 

 

 

 

2. I am wearing a beanie.   y    y 

 

 

 

3. She is wearing a tank top.  y    y 

 

 

 

4. They are wearing rain boots.  y    y 

Ä��µ��̧É�ŝ��Á¦ºÉ°���What are they wearing? 
®�nª¥�µ¦Á¦̧¥�¦¼o �̧É�1��Á¦ºÉ°� �Body & Clothes 

Â���µ¦�´��µ¦Á¦̧¥�¦¼o �̧É 5��Á¦ºÉ°��What are they wearing? 
¦µ¥ª·�µ�£µ¬µ°�́�§¬�¦®́­ª·�µ������������������£µ�Á¦̧¥��̧É�ř��ßĆĚîöĆí÷öýċÖþćðŘìĊę�Ś 

 



 

5. She is wearing a pullover.  y     y 

 

 

 

 

 

6. He is wearing a tee.  y     y  

 

 

 

 

 

7. They are wearing sandals. y     y  

 

 

 

 

 

8. I am wearing overalls.  y     y     

  


